log AL Leuchtdichte-Diffenz- =
e e L g=630cdinf

+ 02 0,1s Y 630cd/fy pot3

e

—_— e — =
-2 -1 0 1 2 Xx=logL




log(L/AL) Leuchtdichte-Kontregt-—,
A AN G e

+ 02 0,1s Y 630cd/fy pot3

(R SR, GRS VNS S S—
2 -1 0 1 2 x=logL




L/AL Leuchtdichte-Kontrast- | —
Empfindichkeiteschwellsg™300d/t

407 02 0,1s Y 630cd/fy pot3

30T

20T

10T

[ e e o a]
3 -2 -1 0 1 2 Xx=logL




T*

801

60T

40t

20--

Leuchtdichte-Diffenz-
renzschwellensumme

_ 02 0,1s Y 630cd/fy pot3

(1] e —— e e T

-3 -2 -1 0 1 2 X=logL




